Spiel 1 Spiel2  Gesamt

Spiel040 17:55(D 1 EXENBERGER Johann 51 + 58 = 109 |#
D2 KLAUSER Johann 64 + 49 = 113|0
Spiel 042 18:15|D 3 KOCK Ernst 47 + 53 = 100 |#
D4 BURESCH Karl 29 + 48 = 77
Spiel 044 18:30|D 5 PRINZ Josef 50 + 54 = 104
D1 EXENBERGER Johann 49 + 50 = 99|#
Spiel 046 18:50|D 2 KLAUSER Johann 63 + 51 = 114 |#
D3 KOCK Ernst 46 + 46 = 92|0 # #
Spiel 048 19:05|D 4 BURESCH Karl 45 + 40 = 85|0
D5 PRINZ Josef 39 + 57 = 96
Spiel050 19:22|D 1 EXENBERGER Johann 49 + 53 = 102|0 O
D3 KOCK Ernst 46 + 46 = 92|#
Spiel 052 19:37|D 2 KLAUSER Johann 52 + 56 = 108
D4 BURESCH Karl 49 + 48 = 97
Spiel 054 19:55|D 3 KOCK Ernst 58 + 51 = 109 |#
D5 PRINZ Josef 55 + 52 = 107|# 0 #
Spiel 056 20:12|D 4 BURESCH Karl 47 + 51 = o8|# #
D1 EXENBERGER Johann 51 + 57 = 108 |# #
Spiel 058 20:27|D 5 PRINZ Josef 48 + 41 = 89|0 O
D2 KLAUSER Johann 51 + 60 = 111|0#




